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QUESTION 1

In secure IP multicast, which protocol handles group key management? 

A. IPsec 

B. GDOI 

C. MD5 

D. SHA-256 

Correct Answer: B 

 

QUESTION 2

Why is a route leaking mechanism needed in this large, unified MPLS network with end-to- end BGP labeled prefixes
and IS-IS multilevel-areas as the IGP? 

A. to build an LSP between the PE routers 

B. for PE management such as Telnet or SNMP 

C. to announce PE loopbacks from other IS-IS areas into the Layer 2 backbone area 

D. to leak routes from the Layer 2 backbone to the Layer 1 areas 

Correct Answer: A 

 

 

QUESTION 3

A service provider must provide Internet connectivity to an MPLS Layer 3 VPN customer. Which solution allows this
customer to have Internet access? 
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A. Implement a global default route with a next hop in the VRF late on PE 

B. Implement policy-based routing between PE and CE 

C. Implement a default route in the VRF with a next hop in the global routing table of PE 

D. Implement destination NAT between the VRF and the global RIB of PE 

Correct Answer: C 

  

 

QUESTION 4

Which two factors can significantly affect the OSPF network convergence time? (Choose two.) 

A. the tuning of OSPF LSA timers 

B. the number of OSPF routes 

C. the diameter of the OSPF network 

D. different processor capabilities of devices 

Correct Answer: AD 

 

QUESTION 5

You are evaluating convergence characteristics of various interior gateway protocols for a new network design. 

Which technology allows link-state routing protocols to calculate paths to destination prefixes that are functionally similar
to feasible successors in Enhanced Interior Gateway Routing Protocol? 

A. Incremental Shortest Path First 

B. Cisco Multiprotocol Label Switching Traffic Engineering Fast Reroute 

C. Loop-Free Alternate Fast Reroute 

D. partial route calculation 

E. Fast-Flooding 

Correct Answer: C 

Latest 352-001 Dumps 352-001 Practice Test 352-001 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 352-001 Dumps | 352-001 Practice Test | 352-001 Braindumps                                3 / 3

https://www.passapply.com/352-001.html
https://www.passapply.com/352-001.html
https://www.passapply.com/352-001.html
http://www.tcpdf.org
https://www.passapply.com/352-001.html
https://www.passapply.com/352-001.html
https://www.passapply.com/352-001.html

